

## Change Order No. 04

Grant No.:

 Project Name:
 Fishtrap (ELEM-DNT) 4 Lanes
 Prj. No.:
 2012-ST

 Contractor:
 Mario Sinacola & Sons Excavating, Inc.
 CSP No.:
 2022-51-B

 Contract Start:
 6/26/2023
 PO No.:
 22400

## Description of Change:

This Change Order adds funds and quantities to build Legacy Drive north of First Street.

Mod/ New	Item No.	Description	Unit	Prev	Quantity Chg	New	Unit Cost	Cost Change
Mod	5	Remove & Dispose of Existing Concrete Pavement	SY	707	549	1,256	\$14.00	\$7,686.00
Mod	6	Remove & Dispose of Existing Asphalt Pavement	SY	22,210	1,531	23,741	\$3.00	\$4,593.00
Mod	24	Moisture Treated Subgrade (Fill)	CY	38,000	7,642	45,642	\$1.00	\$7,642.00
Mod	25	Moisture Treated Subgrade (Cut)	CY	72,000	3,602	75,602	\$5.00	\$18,010.00
Mod	26	12in Lime Treated Subgrade	SY	50,667	6,702	57,369	\$5.00	\$33,510.00
Mod	27	12in Lime Treated Subgrade - Double Pass	SY	50,667	6,702	57,369	\$3.00	\$20,106.00
Mod	28	Lime (Min. 72#/SY)	TON	1,870	348	2,218	\$280.00	\$97,440.00
Mod	30	9 Inch Reinf. Concrete Pavement	SY	41,790	6,145	47,935	\$81.00	\$497,745.00
Mod	31	6 Inch Monolithic Curb	LF	34,307	3,978	38,285	\$1.00	\$3,978.00
Mod	32	3in Asphalt Pavement Type D	SY	920	-817	103	\$27.50	-\$22,467.50
Mod	33	5in Asphalt Pavement Type B	SY	920	-817	103	\$41.10	-\$33,578.70
Mod	34	5 Inch Reinf. Concrete Sidewalk/Trail (Min. 3,500 PSI) (4ft to 10ft wide)	SY	2,916	20	2,936	\$58.00	\$1,160.00
Mod	39	Stamped Concrete	SY	190	51	241	\$220.00	\$11,220.00
Mod	42	Rip Rap (Stone Protection) (12in) Thickness=18in	CY	6,640	5	6,645	\$200.00	\$1,000.00
Mod	53	10ft Recessed Curb Inlet	EA	7	3	10	\$5,500.00	\$16,500.00
Mod	58	5ft X 5ft Type II Junction Box	EA	2	1	3	\$9,000.00	\$9,000.00
Mod	70	21 Inch RCP Class III	LF	1,877	319	2,196	\$132.00	\$42,108.00
Mod	71	24 Inch RCP Class III	LF	300	212	512	\$148.00	\$31,376.00
Mod	72	30 Inch RCP Class III	LF	642	231	873	\$150.00	\$34,650.00
Mod	73	36 Inch RCP Class III	LF	665	170	835	\$175.00	\$29,750.00
Mod	78	36 Inch Sloped Headwall	EA	2	-2	0	\$5,000.00	-\$10,000.00
Mod	80	Trench Safety for Storm Drain Installation	LF	10,904	932	11,836	\$5.00	\$4,660.00
Mod	81	24 Inch AWWA C900 DR-18 PVC Pipe (By Open Cut)	LF	1,180	-30	1,150	\$390.00	-\$11,700.00
Mod	83	24 Inch AWWA C900 DR-18 PVC Pipe w/36 Inch Steel Casing (By Jack & Bore)	LF	50	98	148	\$1,750.00	\$171,500.00

Mod	84	6 Inch AWWA C900 DR-18 PVC Pipe (By Open Cut)	LF	10	8	18	\$90.00	\$720.00
Mod	86	24 Inch AWWA C-504 Butterfly Valve	EA	1	2	3	\$24,500.00	\$49,000.00
Mod	87	6 Inch AWWA C-509/515 Resilient Seated Wedge Gate Valve	EA	2	1	3	\$1,700.00	\$1,700.00
Mod	89	Furnish & Install Standard Fire Hydrant	EA	1	2	3	\$8,350.00	\$16,700.00
Mod	91	Trench Safety for Water Line Installation	LF	1,280	61	1,341	\$15.00	\$915.00
Mod	92	Ductile Iron Fittings	TON	8	1.99	9.99	\$5,000.00	\$9,950.00
Mod	96	Bermuda Sod	SY	13,930	18,300	32,230	\$4.88	\$89,304.00
Mod	99	Silt Fence	LF	11,000	2,386	13,386	\$2.35	\$5,607.10
Mod	100	Inlet Protection	EA	46	5	51	\$95.00	\$475.00
Mod	101	Rock Check Dam	EA	8	4	12	\$770.00	\$3,080.00
Mod	145	Concrete Mow Strip	SF	4,125	36	4,161	\$29.80	\$1,072.80
New	CO 4.1	Additional Mobilization	LS	0	1	1	\$25,000.00	\$25,000.00
New	CO 4.2	Additional Traffic Control	LS	0	1	1	\$25,000.00	\$25,000.00
New	CO 4.3	Prep ROW	LS	0	1	1	\$187,500.00	\$187,500.00
New	CO 4.4	Unclassified Street Excavation	CY	0	24,719.00	24,719.00	\$14.50	\$358,425.50
New	CO 4.5	9 Inch Reinforced Concrete Pavement - Hand Pour upcharge	SY	0	670	670	\$30.97	\$20,749.90
New	CO 4.6	5ft X 5ft Type II Junction Box Extra Depth	VF	0	6.75	6.75	\$2,300.00	\$15,525.00
New	CO 4.7	15ft TXDOT Type II Recessed Curb Inlet	EA	0	1	1	\$17,800.00	\$17,800.00
New	CO 4.8	15ft TXDOT Type II Curb Inlet	EA	0	1	1	\$19,600.00	\$19,600.00
New	CO 4.9	Connect to Existing 21" RCP	EA	0	1	1	\$3,500.00	\$3,500.00
New	CO 4.10	36 Inch Sloped Headwall 6:1 Slope	EA	0	2	2	\$8,750.00	\$17,500.00
New	CO 4.12	Concrete Encasement	LF	0	10	10	\$150.00	\$1,500.00
New	CO 4.13	12 Inch AWWA C900 DR-18 PVC Pipe	LF	0	12	12	\$300.00	\$3,600.00
New	CO 4.14	12 Inch Gate Valve	EA	0	2	2	\$3,750.00	\$7,500.00
New	CO 4.15	Remove Existing 24" Waterline	LF	0	9	9	\$50.00	\$450.00
New	CO 4.16	Install Curb and Gutter	LS	0	250	250	\$50.00	\$12,500.00
New	CO 4.17	Install Dowel on Curb	LF	0	183	183	\$20.00	\$3,660.00
New	CO 4.18	Construction Entrance	EA	0	3	3	\$4,500.00	\$13,500.00
New	CO 4.19	Erosion Control Logs	LF	0	1,705	1,705	\$2.35	\$4,006.75

New CO 4.20 Pavement Markings		LS	0 1	1	\$25,000.00	\$25,000.
New CO 4.21 Signage		EA	0 6	6	\$1,500.00	\$9,000.
New CO 4.22 Remove Sidewalk		SY	0 20	20	<b>\$14.50</b>	\$290.
				,	ent this Change: ent this Change:	1,916,018.8
hether said costs are known, unknown, fores	seen or unforeseen at this time, inc	1 0				
whether said costs are known, unknown, foresther effect on changed or unchanged work as  Driginal Contract Amount:  Drevious Change Orders:	seen or unforeseen at this time, inca a result of this Change. \$26,811,506.99 \$0.00	sluding without Issue	limitation, any cost	for delay, extendea		
The compensation agreed upon in this Chan, whether said costs are known, unknown, foresther effect on changed or unchanged work as Original Contract Amount: Previous Change Orders: Current Change Order: Revised Contract Amount:	\$26,811,506.99 \$0.00 \$1,916,018.85	Issue TOW	limitation, any cost	for delay, extendea		
whether said costs are known, unknown, foresther effect on changed or unchanged work as  Original Contract Amount:  Previous Change Orders:  Current Change Order:	seen or unforeseen at this time, inca a result of this Change. \$26,811,506.99 \$0.00	sluding without Issue	limitation, any cost	for delay, extendea	l overhead, ripple or in	
whether said costs are known, unknown, foresther effect on changed or unchanged work as  Driginal Contract Amount: Previous Change Orders: Current Change Order:  Revised Contract Amount:	\$26,811,506.99 \$0.00 \$1,916,018.85	Issue TOW	d by	for delay, extendea	l overhead, ripple or in	mpact cost, or a
whether said costs are known, unknown, forest ther effect on changed or unchanged work as Original Contract Amount: Previous Change Orders: Current Change Order:	\$26,811,506.99 \$0.00 \$1,916,018.85 \$28,727,525.84  Cal. Days	Issue TOW  By	d by  OF PROSPE  Signature	for delay, extended	l overhead, ripple or in	mpact cost, or a.

12/7/2025

Final Completion Date:

